- CHEMISTRY
Paper - I Organic Cliemistry

Part-A (Compulsory)
VRT3 ATart )

How many.types of €l€ctrenic transition are there? Arrange themin
decreasing order.Of energy.
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FaRker B |

How diethyl ether can be converted into an ester?
w@aémﬁmﬁﬁmwm?

What is meant by acetylation? Y=l & T a4 €7

Arrange the following compounds in increasing order of acidity :

W@HW@WW%W_W#WW

OH OH OH OH OH
@m (e
| NH,

. CH, NG,

Explain why acetic acid does not form oximewalthough it contains a

~ carbonyl group.

AP s SRR T8 ST & T SHSAN TF FRel W |
Amides behave both as weak acids§ and-weak bases. Why?

vaIgE gda on Ud g A AIaRE AaeR Beal & | Y
Arrange the following, compotnds in order of increasing reactiviy
towards nucleophilic :

Acetone, Formaldehyde, Acetaldehyde
ﬁﬂﬁmmaﬁmﬁmﬁra%uﬁfaﬁg%m%mﬁ

ZraRYgd Hifom:

¥R, wilfeerss, Wieleazs |
‘Give thevmajor-IR absorption bands of the following functional

groups.

1 Carbonyl group - aldehyde and ketone
(ii)Acids

(iii) Esters

(iv) Amines

iv) Amides

| ﬁwﬁf@aﬁfaﬂwa@%uﬂ@mwﬁwmﬁm

(i) PR TE-Yeserss Td PEM
(i) S+

(iii) T

(iv) ¥

() vES

Picric acid dgcomposes sodium bicarbonate although it does not
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contain carboxyl group. Why?

fafvs sra1 Qifeew TsPRFT o svufy o7 j
| , T JEfy
. Eﬁ‘iﬁﬂmw e T & | e =
. rite TUPAC name of the following compounds :
fr=fafaa el & IUPAC 0 SRR

O H
| N |
(1) CHs—C-Cl (ii)CH,—C—CH3
- |

-OH
(iii) CH,- COCH (i) COOH
\ |
OH COOH
Part-B (Compulsary).
-7 ( E )
11. What do you mean by stretchingand bending vibrations? How man
types of vibration occur in organic molecules? Explain.
T HR 9 T SR, I T TR SRS e 7
R TBR © D FhaE DR
| Or ( 3791 )
@ Explain, why diethyl ether sometimes explodes on distillation.

m,ﬂmémmwmwﬁmﬁﬁﬁ

TLHIAIY TE E | : ~
®) Cofnplete the following reaction : Pr=ferfaa aiftifsar & ol B

/ '
CH,-CH —é-lz ——?

> 12. (a) Two isomeric compounds A and B have molecular formula CH,,’
' Both A and B decolourise bromine solution in CCl, and both give
positives tests with cold dilute potassium permanganate. Both A
and B react with two molar equivalents of hydrogen in the presence
of platinum catalyst (0 yield cyclohexane. Compound A shows an
absorption maximum at 256 mm whereas B shows no absorption

maximum beyond 200 nm. What are the structure of A and B?

31 wwrEad! e A T B BT APREA C H, ¥ 2t Affrs CCl, F
ﬁwﬁ%@ﬂméﬁ%ammaﬂmoﬁmﬁa%mam
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IRIETT < | N1 DRE Qe ARG 6 SuRAfY ¥ TR @ o)
HeR Jourd ¥ fbar ove ARacieaes 9 ¥ e A sraeior
S=I% 256 mm YR JTAT ¥ W9 B 200 nm @ 31 B G

. =16 el S| A 3 B &Y G¥ae quigd |
®) Write the [UPAC names of the following compounds :

fifeRea At & TUPAC T/ forfad)
(i) CH, = CH -CH,~OH (ii) CH,-0-CH, '

| CH,-CH-CH,
(iif) o | 5 7
OH OH A ,

Or ( 37Yar)
Write chemical reactivity of alcohols dueto cleavaoe of O-H bond.

Vehigell @ O-H 98 TE5 & IS aﬂm%ﬁaﬁl
13. Write detailed mechanism of Reimer<Tietnann reaction.

W—ﬂqﬁeﬁr@maﬁﬁmﬁﬁrﬁmw%ﬁml

- Or(3ar), s
Write detailed mechanism/©f"Curhene hydroperoxide to phenol and

acetone rearrangement feaction. FH SEYURITAES B BHIA 7
NS # gAfd-ar et Bt ity favga wu @; foar |
14. . Predict the produictsiifithe following reactions : =’

frferaa sif¥ifchamei I g7 arel SURT BI g

N SNAL NH,NH, .KOH |
@ | /C"O DEG,A ?

& a
= 59

(i)\REC-R! P 59
I
O
' Or(3wEr)
Predict the products in the following reactions :

ﬁwﬁ@aaﬁmﬁ%aﬁmmﬁ_ﬁm:

® (O)R S

i) CH,=CH-CHO+HBr __CHcook ;7
'How will you synthesize following from diazonium salt :

(i) Nitrobenzene (ii) Phenol _

I SRS Aqur ¥ fafiaied 9 g9
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(i) TR (i) PA ’ o

Or ( 37ar)
Describe the reduction of nitrobenzene under different conditions.
ﬁfﬁ? trﬁﬁe:rﬁﬁr H TSI P YT HI qUE B |
' - Part-C(9FT-9) .
| Unit-1(g®E-1) -
16 (a) Explain with diagram all possible types of molecular vibrations
that oceur in ag organic molecule. BT ARDI # fAFFT yor &
MPIS FT & Al R PR |
(b) Explain the following terms (any two) :

(i) fingerprint region (ii) Chromophores.
(1ii) Bathochromic shift

frfeaa vl & e iR (@1 <))

(i) SyfereTT &5 (ii) PTHER
(m) CRIEaIbEd ﬁl‘-‘fa

© Using Woodward Fleser Rules calculate A, . for the following

- ‘compounds : gsaé—nﬂwa%ﬁmﬁwwﬁwﬂ‘rﬁaﬁﬁ 3aeioT Sfeee
L Eia Rafy Y o iRy

s (i)O$CH—CH=O(ii)C@

(i) @—O iv)

Or (31T )

L @ What are symmetrical and unsymmetrical ethers? How does an ethers
' react with hydroiodic acid? How is this reaction used for the detection

and estimation of alkoxy groups? ST Td AR SR F41 BRI
TP SR TSR T W fr YR famT R 37 Vel W
& FruiRor wd swer § 39 aifisan oy STaifa §?

(b) Give the structures and names of the products you would expect
from the reaction of ethylene oxide with reaction. TR SfawTEs .
& Frer & a1 R T 910 SIS @ WY 9 S S |

() HO/m® (i) HZO/OHQ © (iii) NH,

st

—
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(1) Acid chlofides (ii) Esters

(iif) Anhydride iv) Nitriles
el @ FefoRaa d 39 g aﬁ(ﬁ:)
AERIERINES (ii) TN
(iif) TERgES | (iv) TEgTsa
© Write notes on the following reactions of acid chlorides :
(i) Hydrolysis (ii) Esterification -
(iii) Aminolysis
 ap FeRTEe &1 e sl TR it fewfdmi ferfad
(i) A ST (i) TEedaRT
(iii) IR sgeeA |

| Unit-IN (§%=-11)
18. (a) What is nitration? Give the mechanismhof nitration of benzene.
Describe the effects of substituents on nitration.

WW%?W%W@WWIW

4% el R & wArl 31 Jed BRI |
(b) How will you prepare following compounds from benzene:
P (i) M - nitroaniline (i1).O - nitroaniline
(i) P - nitroaniline
CRuINAS] By el SR
(i) M—TTgSRIFeA (ii) O—TESRel
(iii) P-Tg

© Explaify, why"
() Tetraalkyl ammonium salts used as phase-transfer catalysts

(i) The coupling reaction of diazonium salt with an arylamine
requires weekly acidic conditions, while with phenol weakly basic
conditions are required. | |
gy, 9l | |
(i) ceRfcwa aﬁrﬁﬂﬂwﬁaﬁmwm%mﬁ

| fpa el &1 |

~— 9gt
' (ii)WWeﬁﬁﬁa@ﬂa%mwm@mgéaqﬁﬁqm
'ﬁﬁﬁf%,ﬁﬂﬁ?qﬁ:ﬁﬁ$mﬂgﬂﬂﬁ§éﬂ
AN B
Or( 3tgar)
@ Explain the acidic character of nitroalkanes.
reactions of nitroalkanes -
@) Hydrolysis

Describe the ollowing
(ii) Reaction with nitrous acid

-
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(iii) Reaction with aldehydes and ketones
(iv) Action of heat

Wrs@ﬁaf?fzbaﬁﬂuwa%maﬁﬁmlm@ﬁmzﬁﬁw
3ififoraall @1 vl BN -

() 9T IqEed (ii) 7SS 3Fan ¥ Toha

(iii) YReeese 9 PoF
(iv) dI9 &1 Y4919

Aliphatic amines are more.basi¢ than ammonm Explain it wuh
reasons.

aﬁﬁmaﬁaﬁmﬁmmmmaﬁhwm
AR |

Write short note on'the following :
(i) Hoffmanmammonolysis of alkyl halides
(ii) Sandrneyer reaction

Prefifrg = B feafEt Rifed: i
(i) EPATT SFIT Sreie Ve saes &1
(11)%0@11'\’31'&[% '
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